front cover

Plumb Kit Instruction Manual

Plumb Ki
Instruction Manual

Item No.: GJ022555

3. Another side of the 1/4 PE
pipe connect to the valve.
And lock it by blue chip.

4. Connect the valve to the
1/4 PE pipe in family or

Kid de Plomb Mode d’emploi

Article : GJO22555

Plumb Kit Water Guard Adaptor Valve office, which is reserved Adaptateur pour I'alimentation ‘Soupape
Kid de Plomb Mode d’emploi @ich ©icD for pure water. o (o2
Manual de Instrucciones del Kit de Plomeria
GJO22555 /4 PE Pipe Blue Chip Tuyau en polyéthyienc 1/4 Cheville bleue
e e Warning T: The plumb kit water guard adaptor must be fixed tight. " "3 4)
‘Warning 2: When inserting the 1/4 PE pipe, make sure it is already
inserted to the bottom, otherwise it may cause leaking.
1. Press the water guard and screw with the blue chip to avoid the pipe getting loose. 1. Appuyez sur le protecteur en
off, and then replace with plumb place et dévissez-le pour le
kit water guard adaptor. Put it in remplacer par I'adaptateur.
right way and screw in. Note: This item works on GJO22554 only.
2. Take out the blue chip from the 2. Retirez la cheville bleue de
plumb kit water guard adaptor, I'adaptateur, puis insérez le tuyau
then insert the 1/4 PE pipe into its dans son connecteur. Remettez
connector. After that, put the blue ensuite la cheville en place pour
chip back to lock the pipe. fixer le tuyau.
1 2 3
3. Raccordez une extrémité du E" Manual de Instrucciones 3. 0tro lado del tubo PE de 1/4 Instructions

tuyau a la soupape, et fixez-le a
Faide de la cheville bleue.

4. Raccordez Pautre extrémité
du tuyau & une conduite
réservée a I'eau propre.

1 de bien fixer pour
Palimentation.

Avertissement 2 : Assurez-vous de bien insérer le tuyau dans la
soupape, sinon il pourrait y avoir une fuite.

Avertissement 3 : Fixez le tuyau avec la cheville bleue pour
éviter quiil ne se détache.

: Cette trousse est seulement congue pour étre
utilisée avec le produit GJ022554.

del Kit de Plomeria

Articulo No.: GJ022555

Kit de plomeria del adaptador Valvula
d Gmagen 2)
Gmagen

(3

Tubo de polietileno (PE) de 1/4 Lasca azul
(imagen 3) (imagen 4)

1. Presione el resguardo y
destornillelo y reemplacelo con el
adaptador. Coléquelo de forma
correcta y atornillelo.

2.5aque la lasca azul del adaptador
e inserte el tubo PE de 1/4 en su
conector. Después de eso, vuelva
a poner la lasca azul para
bloquear el tubo.

o

conecta con la vélvula. Y
bloquéelo con la lasca azul.

4. Conecte la vélvula en el
tubo PE de 1/4 en un
conducto reservado para
agua pura.

Advertencia 1: El adaptador se debe fijar ajustadamente.
Advertencia 2: Al insertar el tubo PE de 1/4, asegurese de que
va esté insertado en la parte inferior, de lo contrario, podria
causar filtracién.

Advertencia 3: Después de insertar el tubo PE de 1/4, asegiirese
de bloquearlo con la lasca azul para evitar que el tubo se afloje.

Nota: Solo puede funcionar en GJ022554.

CALL US FIRST! DO NOT RETURN TO STORE.

aase prois e olawng nforaion:
5.t e

2 Physal Adross  donot i PO Box a o carirscannot dolr b PO, Bcsss
5 o mber

S imocas

7 Dot Purchase

Instructions
APPELEZ-NOUS D'ABORD! NE REVENEZ PAS AU MAGASIN.

i ena 8 00 N Lo
omtes o e o gt 0818 o o013 R
Veutez ncrs o nomations suvaries

1. Nom compet

3 Numéro o kerons

Instrucciones.
JLLAMENOS PRIMERO! NO DEVUELVA EL PRODUCTO A LA TIENDA

1 Nombve compleo

2
5 Numaro toionco

7 Fecha da compra

Back cover




	页 1

